

Company	AMTZ Medpolis 4554 Pvt Ltd	Name of contractor	B.Yejineswar	Sl. No. site bills reg.	201		
Project/site	AMS 4554	Nature of work	Core cutting bill fire and plumbing	Dr. site bills reg.	141225		
Block no.	4554 core cutting work for fire and plumbing purpose	Work done from date	04-12-25	M-codex bill ID.			
WO no.		Work done to date	09-12-25	WO issued ?			
WO date		Contractor bill no.		GST bill required?			
Sl. No.	Unit/floor no	Details of work	Qty	Units	Rate ID	Rate	Amount
	4554 3rd floor core cutting work	Tile core cutting work 3" slab	48	No's	HIR 13	250.0	12,000
		5" beam core cutting	15	No's	HIR 146	350.0	5,250
		5" slab core cutting	16	No's	HIR 145	300.0	4,800
		4" beam core cutting	8	No's	HIR141	325.0	2,600
							24,650
<b>Remarks:</b>							
Approved by project manager		Approved by QS team					Approved by Director/E&D team
Sign:		Sign:					Sign:
Date:		Date:					Date:

### APPROVED BY

1 <sup>st</sup> DEC 2025
T.RAJESH KUMAR
MEP PROJECT MANAGER

**MEASUREMENT SHEET**

Company Name: AMTZ Medpolis square 4554 pvt Ltd

Project: AMS 4554

Work Description: Core cutting bill (partly for fire and plumbing purpose)

Contractor: B. Yejneswar

Prepared By: Md.Salman

Approved by:

Sign: Work start date: Work end date:

Date: E=AxBxCxF G=Sum of E  
A B C D  
Item Head

S No.	Item Head	Item Description	Length	Width	Height	Nos.	Quantity	Units	Item Head Total
1	4554	Toilets core cutting work 3" slab	1.00	1.00	1.00	45.00	45	No's	45
		5" beam core cutting for fire work	1.00	1.00	1.00	10.00	10	No's	10
		5" slab for fire work	1.00	1.00	1.00	12.00	12	No's	12
		4" beam toilets	1.00	1.00	1.00	6.00	6	No's	6
		4" slab for fire work	1.00	1.00	1.00	8.00	8	No's	8

**APPROVED BY**

1<sup>st</sup> DEC 2025  
T. Rajesh Kumar  
T. RAJESH KUMAR  
MEP PROJECT MANAGER

**ESTIMATE SHEET**

Approved by:

Company Name: AMTZ Medpolis Square 4554 pvt Ltd  
 Project: AMS 4554

Work Description: Core cutting bill (partly for fire and plumbing purpose)  
 Prepared By: Md.salman

Date:	Item Head	Item Description	Quantity	Units	Rate	Amount
1	4554	Toilets core cutting work 3" slab	48	No's	250.00	12,000.00
		5" beam core cutting for fire work	15	No's	350.00	5,250.00
		5" slab for fire work	16	No's	300.00	4,800.00
		4" beam toilets	8	No's	325.00	2,600.00
						24,650.00

**APPROVED BY**

<b>1<sup>7</sup> DEC 2025</b>
<b>T. RAJESH KUMAR</b>
<b>MEP PROJECT MANAGER</b>

**Allowance For Equipment**  
**B.Yejneswar**  
**AMTZ**  
**Visakhapatnam**

Date: 17-12-2025

**In favor of :** M/s. AMTZ MEDPOLIS SQUARE 4554 PVT. LTD.

**Project/Site:** AMS4554

**Location:** Visakhapatnam

**Type of Work:** Core cutting work

**Towards :** Allowance For Equipment

S.No.	Description	Amount
1	Breif description of work: for site all floor core cutting work ( fire and plumbing work purpose)	9,860.00
<b>Total amount:</b>		<b>24,650.00</b>

**Nine thousand eight hundred sixty rupee only**

Sign: \_\_\_\_\_

**Labour Charges**  
**B.Yejneswar**  
**AMTZ**  
**Visakhapatnam**

Date: 17-12-2025

**In favor of :** M/s. AMTZ MEDPOLIS SQUARE 4554 PVT. LTD.  
**Project/Site:** AMS4554  
**Location:** Visakhapatnam

**Type of Work:** Core Cutting work

**Towards :** Labour Charges

S.No.	Description	Amount
1	Breif description of work: for site all floor core cutting work ( fire and plumbing work purpose)	9,860.00
	<b>Total amount:</b> 24,650.00	

**Amount in words:** Nine thousand eight hundred sixty rupee only

Sign: \_\_\_\_\_

**Allowance For Consumables**  
**B.Yejneswar**  
**AMTZ**  
**Visakhapatnam**

Date: 17-12-2025

**In favor of :** M/s. AMTZ MEDPOLIS SQUARE 4554 PVT. LTD.  
**Project/Site:** AMS4554  
**Location:** Visakhapatnam

**Type of Work:** Core Cutting work

**Towards** Allowance For Consumables

S.No.	Description	Amount
1	Breif description of work: for site all floor core cutting work ( fire and plumbing work purpose)	4,930.00
	<b>Total amount:</b> 24,650.00	

**Amount in Word:** Four thousand nine hundred thirty rupee only

Sign: \_\_\_\_\_